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(F5v9) XRKRLY
No | Bl 7 3l = H SoUR #H — & A
1 9:30 hE1EEF 100m ¥ 1044 X8 74
2 10:00 2 FBF 100m ¥ 6HARAk8 48
3 10:20 HhEEIFEEF 100m ¥ 24AR A8 14
4 10:30 1 ELF 100m ¥ 7R Ak8 50
5 10:50 2 FLF 100m ¥ 6HARAk8 44
6 11:10 —BERRF 100m ¥ 3#R X8 23
7 11:20 —EREF 100m ¥ 5% X8 39
8 11:35 hPF1EBRF 1500m ®R 2834 LL—R 40
9 11:55 hip L F 1500m P 3HIMLL—R 51
10 12:20 hipBEF 400m ¥ ARL LL—R 26
11 12:40 — SRR F 400m ¥ 2834 LL—R 11
12 12:50 —EREF 400m e 3 2834 LL—R 16
13 13:10 1 ELF 80mH ¥ 2% X8 14
14 13:25 hip L F 100mH ¥ 2% X8 15
15 13:35 1 EBEF 100mH e 3 2% X8 9
16 13:40 — SRR F 100mH P 6
17 13:50 hip L F 3000m P 14
18 14:05 hipBEF 3000m P 2834 LL—R 46
19 14:35 XINSBEF 100m b 3
20 14:40 hEE1 L F 100m P S 8
21 thip2 & F 100m P S 8
22 hZ23ELF 100m R 6
23 23 &LF 100m P S 1-1
24 14:55 h21EFF 100m R 8
25 tho EBF 100m R 8
26 hZ3EFF 100m R 8
27 15:05 X2HBF 100m ®’ 7
28 XI3HMEF 100m P 28814 LL—R 9
29 MAER B F 100m p S 7
30 KEEBF 100m R 5
31 15:20 —EEmBRRF 100m P S 8
32 —EEREF 100m R 8
33 15:35 h2E1ELZT 80mH P 8
34 15:45 thip L F 100mH P 8
35 15:50 h21E8F 100mH P 8
36 15:55 thip B F 110mH P 8
37 16:00 — =B F 110mH R 4
(Z4—ILE) XRKLY
No | K%l 7= A i H A
1 0:30] HFERXF/—BEEXF E Bk 12:6
2 9:30] FEEF/—EBF i) 29-9
3 9:30 hEB¥ Fash % 11
X3-58BF rai i 2-4
4 10:30] PFEBF/—EEBF Ea Bk 3-1
5 11:00 hEiF fash & 15
X3-58&F fash & 1-1
6 11:30] PEBF/—EBF FEE B 12-6
7 12:00] ¥%2-3-4F%F =Bk 1-1-1
¥%2-3-4-588F =Bk 2-3-1-4
8 12:30] BREBF/EREF JEh B 9-4
9 13:30] FEBF/HELXF |DvA)yH/RA—| 13-16
10 13:30] FFELXF/—EKF FENE Bk 31:4
11 14:30] —&BF/—BEXF PYE 3-2




